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- 50Hz 60Hz 50Hz 60Hz MPa bar kPa(-ve) | mbar(abs.)
1L 0.12 0.12 2.55 2.55 0.35 3.5 = =
2L 0.19 0.19 4.1 4.1 0.35 3.5 = -
3L 0.25 0.25 5.3 518 0.35 3.5 = =
4L 0.37 0.37 7.7 7.7 0.35 3.5 = =
5L 0.56 0.56 9.2 9.2 0.35 3.5 = =
6L 0.75 0.75 10.7 10.7 0.35 3.5 = =
7L 1.5 11 17.3 17.3 0.35 3.5 = =
8L 1.5 1.5 16.5 20.7 0.35 3.5 — =
1H 0.12 0.12 2.2 2.2 0.7 7.0 = =
2H 0.19 0.19 3.6 3.6 0.7 7.0 = =
3H 0.25 0.25 4.1 4.1 0.7 7.0 = =
4H 0.37 0.37 6.0 6.0 0.7 7.0 = &=
5H 0.56 0.56 8.0 8.0 0.7 7.0 = =
6H 0.75 0.75 9.2 9.2 0.7 7.0 = -
H 1.5 1.1 15.5 15.5 0.7 7.0 = =
8H 1.5 1.5 18.7 18.7 0.7 7.0 = =
e PAB 0.22 0.22 2.2 2.2 0.7 7.0 = =
e PBB 0.45 0.45 4.3 4.3 0.7 7.0 = &
e PCA 1.27 1.27 10.4 10.4 0.88 8.8 = =
1VAF 0.12 0.12 2.5 3.1 = - 93 82
1VSF 0.12 0.12 4.2 5.1 - = 97 48
1VBF 0.12 0.12 4.52 5.44 - - 93 82
4VSF 0.37 0.37 5.7 7.0 = = 97 48
4VCF 0.37 0.37 71 8.5 = = 93 82
5VSF 1.1 o 8.8 10.6 = = 97 48
5VDF 1.1 1.1 14.8 17.9 — — 93 82
e VAB 0.10 0.10 2.2 2.2 = = 93 82
e VBB 0.16 0.16 4.3 4.3 = = 93 82
e VCD 0.19 0.19 8.2 8.2 = = 93 82
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